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iT F 4 | B % B = ISRk | 15~645% | 658l L
% # 15,927 54,263 27,258 27,005 14,037 35,569 4,657
7N T 783 2,320 1,190 1,130 336 1,659 325
i £ 145 569 276 293 100 365 104
il B 90 320 164 156 34 226 60
= E 16 71 32 39 6 48 17
KT ®E — T B 98 290 155 135 78 202 10
K T ® - T H 161 568 295 273 174 372 22
AT ®E =T H 242 771 387 384 216 520 35
KT ®E M T H 263 949 485 464 262 632 55
D 4} 191 716 370 346 139 463 114
A = S X X X X X X X
7N g/ 1,103 3,552 1,801 1,751 730 2,434 388
AN NS 75 X X X X X X X
N N = -] X X X X X X X
AN#odk — T B 189 692 340 352 189 473 30
Ak de T H 20 64 30 34 16 42 6
N de = T H 55 209 104 105 69 132 8
AN Bde ZAOTOH 164 581 296 285 178 380 23
AN NI | A R = 115 421 200 221 147 243 31
N EHE—TH 175 647 317 330 218 396 33
MARERME T H 64 215 108 107 84 130 1
MR ERB =T H 40 152 72 80 35 103 14
IR RMT—TH 114 425 211 214 140 265 20
MNHRAKM T T B 120 453 229 224 165 274 14
*x 7% 1,785 5,513 2,756 2,757 798 3,855 860
B 2 59 260 130 130 40 175 45
& % 53 243 112 131 49 149 45
4 1 121 467 242 225 71 301 95
FH Mg 10 29 14 15 3| 21 5
63 il Hi 17 48 27 21 6 33 9
X H E b X X X X X x| X
] g 248 1,021 528 493 151 633 237
wooEh A FH | X X X X X X X
= & 51 225 120 105 29 158 38
Wmoo® o B 27 84 45 39 11 57 16




3% WTFEMFBELCE I, S (3Xg) AL
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mT F 4% s | B % 2 % 158k | 15~648 | 65MLLE
m W™ #H W 8 21 12 9 5. 16 0
N & 36 141 68 73 20 94 27
hNBE B — T B 580 1,907 962 945 642 1,220 45
N BB T H 121 383 179 204 126 252 5
N E B = T B 412 1,439 736 703 537 863 39
MNE B M T B 396 1,362 703 659 484 855 23
F 2 73 347 180 167 52 222 73
X ¥ = T H 26 73 36 37 13 54 6
o AKFE —TH %4 324 163 161 65 242 17
X XN — T H 282 1,029 522 507 376 613 40
AA - T H 393 1,402 675 727 460 877 65
A A = T H 203 716 354 362 142 | . 537 37
ACAN m™ T H 399 1,437 706 731 330 1,015 92
K XM H T H 162 547 265 282 145 364 38
X AN AKX T H 268 977 484 493 305 631 41
iy iif] 65 300 139 161 39 191 70
=] P 50 243 132 111 31 152 60
e R 158 629 314 315 96 435 8
TN 73 145 602 307 295 104 371 127
i b = 49 198 95 103 34 128 36
% % b2 H 16 62 33 29 11 38 13
n % — T H 732 2,299 1,151 1,148 694 1,489 |. 116
N OB Z T H 1,024 3,207 1,605 1,602 989 2,093 125
m B = T H 138 156 74 82 6 150 0
B Il — T H 211 710 " 365 345 234 436 40
B oW —Z T H 520 1,798 904 894 650 1,112 36
B W = T H 581 2,008 985 1,023 678 1,252 78
=2 T B 391 1,367 691 676 477 827 63
w & — T B8 75 161 99 62 39 121 1
= ik = T H 46 153 77 76 45 97 11
o ™ T H 459 1,593 796 797 518 1, 006 69k
s e ® T H 280 966 504 462 215 659 92
m fL A~ T H 468 1,668 849 819 496 1,076 96
E i 350 1,435 703 732 245 905 285
5 26 114 58 56 9 85 20
AR TZT B X X X X X X X
¥ o K — T B 109 387 189 198 165 221 1
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T 5 % w | B 5 @ 1558 K i 15~ 647% A
o B Z T H 52 196 90 106 84 112 0




